
Elementarmathematik für WS 2011/12
ChemikerInnen A. T. Oesterreich
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Termumformungen

Aufgabe 1:

a)
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35
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.

Aufgabe 2:
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, b) 1, c)

c
3ab
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.

Aufgabe 3:
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.

Aufgabe 4:
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a
, b)
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, d)
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Aufgabe 5:
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9
,
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Aufgabe 7:

a) a =
c
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√
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a

, c =
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,
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,
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,
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.



Aufgabe 8:

a) x = 1, b) x = 5, c) x =
ab

a− c
, d) x = 2(a−2b).

Ungleichungen

Aufgabe 1:

a) (−∞,−11), b)
(
−∞,− 2

23

)
, c) R\ [−1,3], d) R\ (−3,−2].

Aufgabe 2:

(c,b)∪ (a,∞).

Aufgabe 3:

a) x2 < m⇐⇒

{
x ∈ (−

√
m,
√

m) : m > 0
x ∈∅ : m≤ 0

,

b) x2 > m⇐⇒

{
x /∈ [−

√
m,
√

m] : m≥ 0
x ∈ R : m < 0

.

Aufgabe 4:

Es gilt x2 + px+q =
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x+
p
2

)2
−

(
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−q

)
︸ ︷︷ ︸

=:D

. Mit Aufgabe 3 erhält man also
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2
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( p
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)
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,

b)
(
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p
2
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> D⇐⇒

{
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[ p
2 −

√
D, p
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√

D
]

: D≥ 0
x ∈ R : D < 0

.

Chemisches Rechnen

Aufgabe 1: mAgNO3 = 8.75g.

Aufgabe 2: mH2SO4,92% = 1kg, mH2SO4,64% = 2.5kg.

Aufgabe 3: cHCl = 6.17M%.


